

$x^2 + y^2 = 4$; write the equation of the tangent at

$$2x \frac{dx}{dx} + 2y \frac{dy}{dx} = 0$$

$$- 2x \frac{dx}{dx}$$

$$\frac{2y \frac{dy}{dx}}{2y} = \frac{-2x}{2y}$$

$$\frac{dy}{dx} = -\frac{x}{y} = \frac{-\sqrt{3}}{1}$$

$$(\sqrt{3}, 1)$$

$$y - y_1 = m(x - x_1)$$

$$y - 1 = -\sqrt{3}(x - \sqrt{3})$$

$$33. (y-2)^2 = 4(x-3)$$

$$(4,0)$$

$$2(y-2)' \frac{dy}{dx} = 4 \frac{dx}{dx}$$

$$y - y_1 = m(x - x_1)$$

$$y = -1(x - 4)$$

$$\left. \begin{array}{l} u = y - 2 \quad y = u + 2 \\ \frac{du}{dy} = 1 \quad \frac{dy}{du} = 1 \\ \frac{dy}{dx} = \frac{1}{2(y-2)} \end{array} \right|$$

$$\frac{dy}{dx} = \frac{4}{2(y-2)} \\ = -1$$

$$E_x. \quad \cos 2y + \cos x = 1$$

$$\begin{aligned} u &= 2y & y &= \cos u \\ du &= 2 & dy &= -\sin u \\ & & & -2\sin(2y) \end{aligned}$$

$$\begin{aligned} -2\sin(2y) \frac{dy}{dx} - \sin x \frac{dx}{dx} &= 0 \\ \frac{-2\sin(2y) \frac{dy}{dx}}{-2\sin(2y)} &= \frac{\sin x}{-2\sin(2y)} \end{aligned}$$

$$\text{Ex. } \tan(x+y) = 3$$

$$u = x+y \quad y = \tan u$$

$$du = \left| \frac{dx}{dx} + \left| \frac{dy}{dx} \right. \frac{dy}{du} = \sec^2 u$$

$$\left(1 + \frac{dy}{dx}\right) \sec^2(x+y) = 0$$

$$\sec^2(x+y) + \sec^2(x+y) \frac{dy}{dx} = 0$$

$$\frac{\sec^2(x+y) \frac{dy}{dx}}{\sec^2(x+y)} = \frac{-\sec^2(x+y)}{\sec^2(x+y)}$$

$$\frac{dy}{dx} = -1$$

p.146 10-15, 27, 28, 38
22, 24, 26, 32